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Solution :
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Solution :

(i) TG TETU : F &7 TG0 GHIAL HgdTdl g ST UH GO HAT Tgl (HoAdl g 3T ITehl
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Solution :
&t, 71 arfivemeom & & sfefir qeor & et vamt o fig 7|

2, T ATTETOT T&1q & it 4 ar forer feurfaat & safaa g ofiw =26 & s off ghas &t
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Solution :

far g : AC=BC

g+ T8: AC=AB
THTT : AC +BC = AB
a7 AC +AC = AB

AIarT 2AC=AB
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Solution :

C Y@t AB FT 7e7-f6g 2 |

zgfeT, AC=BC
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AT, AC' =BC
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AC'=AC

FET C'=C
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Q6. sHfa 5.10 %, 7T AC=BD g @ Rrg Fvrg fF AB=CD g |
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Solution:
far g : AC=BD

g +TT §: AB=CD

THEr (1) § ¥ BC =219 1%
AC - BC =BD-BC

AB=CD
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Solution :
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